
U2D1 MCR3UI     Worksheet Radicals (Extra Practice)   NO CALCULATORS! 
 

A. Simplify the following, always expressing answers in simplest form. 

1. √8𝑏𝑐 × √4𝑏𝑐 2.   3√20 × 6√5  3.   5 × 2√6  4.  5√10 × √4  

5.  √5𝑏 × √5𝑏  6.   √2𝑎 × √6𝑎   7.  
1

3
√3 × √3  8.  

1

4
√20 ×

4

5
√5 

9.   √𝑎𝑥 × √𝑎𝑥  10.  √𝑎𝑏3 × √𝑎𝑐3  11.  √6𝑟4 × √3𝑟𝑠2  12.  √2𝑐3 × (−√5𝑐𝑑) 

13.  2𝑚√7𝑚𝑛 × 3√7𝑚 14.  (√5)
2

   15.  (4√6)
2

  16.  3𝑦√6𝑥3𝑦 × 2𝑥√8𝑥𝑦4 

17.  (−2√𝑥)
2

  18.  (𝑥√2𝑎)
2

   19.  5√45
3

× 2√3
3

 20.  √18
4

× √9
4

 

21.  √486
5

  22. 2(4√2 + 1)   23.  2(3√12 − 5√8) 24.  √2(√3 + 3) 

25.  √8(2√3 − 5) 26.  √6(√2 − √12)  27.  √2(3√2 + √18) 28.  √12(2√5 − 4√2) 

29.  (√2 + 4)(√2 − 4) 30.  (2√3 − 3)(2√3 + 3)    31.  (√3 + 4)(√3 + 2) 32.  (5 + 3√3)(5 + 3√3) 

33. (2√3 − 1)
2
  34. (√2 + √3)

2
   35.  (5√6 − 6√5)

2
 36.   (6√5 + √7)(6√5 − √7) 

37.  √
3

4
  38.  √

15

64
  39.  √

24

25
 40.  √2

1

4
 41. √

500

4

3
 42.  √

𝑑

𝑚2 43.  √
4𝑥2𝑦

121𝑎8𝑏6 
 

B. Simplify. 

1. 2√36 + 2√64 − 5√12 2.   4√75 + 8√12 − 3√48  3.  7√120 − 3√52 − 2√28  

4.  8√24 + 3√6 − 4√54 5.  4√243 + 2√363 − 5√49  6.  7√45 + 4√196 − 6√125 

7.  4√54
3

− 7√128
3

+ 2√24
3

 8.  5√375
3

+ 2√192
3

− √24
3

  9.  2√48
4

− √243
4

 
 
ANSWERS: 
Part A: 

1.    4𝑏𝑐√2 2.    180 3.    10√6 4.  10√10 5.  5𝑏 6.  2𝑎√3 
7.    1 8.   2 9.  𝑎𝑥 10.  𝑎𝑏𝑐√𝑏𝑐 11.  3𝑟2𝑠√2𝑟 12.   −𝑐2√10𝑑 

13.   42𝑚2√𝑛 14.     5 15.     96 16. 24𝑥3𝑦3√3𝑦 17.  4𝑥 18.  2𝑎𝑥2  

19.   30 √5
3

 20.  3 √2
4

 21.  3 √2
5

 22.  8√2 + 2 23.  12√3 − 20√2 24.  √6 + 3√2 

25. 4√6 − 10√2 26.  2√3 − 6√2 27.  12 28.  4√15 − 8√6 29.  −14 30.  3 

31.  6√3 + 11 32. 52 + 30√3 33.  13 − 4√3 34.  5 + 2√6 35.  330 − 60√30 36.   173 

37.   
√3

2
 38.    

√15

8
  39.  

2√6

5
 40.  

3

2
          41.  5 42.   

√𝑑

𝑚
 43.   

2𝑥√𝑦

11𝑎4𝑏3 

      

Part B: 

1.   28 − 10√3 2.   24√3 3.   14√30 − 6√13 − 4√7  4.   7√6 5.    58√3 − 35 

6.   56 − 9√5 7.   −16 √2
3

+ 4 √3
3  8.    31 √3

3    9.    √3
4

 
  


